- Ay = doub'le half'of 04+0-= half.of

1 is 2 is 4 s

4 + 4 = 0=2:= 3+3= 6+2-= doul:.>|e Ox2-=

2 is

half of double half of half of 1+1= > 2=

6 is 5 is 0 is 8 is ) )

dout->|e 4:2- 5+ 5= 1x2= 8+2= 2+2=
O is

o _ double } half of double

10+2= 3x2= 3 is Bbx2-= 10 is 4 is
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[ Doubles/Halves to 10

Sheet

QUl.CK
AR S X

MATHS

_ _ double half of L0 - half of
2+2= 4x2:= 8  ic 2 5 is 1 0+0-= 0 4 is 2
4+ 4= 0:2= O |3+3= 6 |6:2= 3 d;“"'i’s'e 4 | 0x2= O
half of double half of half of _ _

6 is 5 is 10 0 is 0 8 is 4 |1-t= 2 exes= 4

dgu?sle 4:2= 2 |5+5= 10 |1x2= 2 |8:2= 4 (2:2= 1
o _ double _ half of double

10:-2= 3x2-= 6 3 is 6 5x2-= 10 10 is 5 4 is 8
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QUICK '/ Todayyscorez \

7 some move - beal youl' 001" &/ Wity . 4 J
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L _ double _ half of double

10-2= 3xe= 3 is Ox2:= 10 is 4 is

dout?le 4:2= 5+5= 1x2-= 8+2:= 2+2-=
O is

5,2 x 4x 7= doub.le half.of 0+0-= half.of

1 is 2 is 4 s

half of double half of half of 1+1-= 2x2=

6 is 5 is 0 is 8 is B )

4+4- 0:2-= 3+3: 62 d;”?sle Ox2:
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[ Doubles/Halves to 10 ShéeT

QUl.CK
AR S X

MATHS

P _ double _ half of double
10-2= 3x2= 6 3 is 6 |5x2= 10 |5, O 4 is
dgu?sle 4:2= 2 |5+5= 10 |1x2= 2 |8:2= 4 |2:2:=

_ _ double half of 3 half of
2+2= 4x2-= 8 L is 2 > is 1 0+0= 0 4 is
half of double half of half of _ _
6 is 5 is 10 0 is 0 8 is 4 1+1= 2 exes
4+ 4= 0+2-= 0) 3+3= 6 6+2-= 3 double 4 Ox2-=

2 is
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> [ Doubles/Halves to 10 Shéd ]

/ Lovstsoov@/ QUICK. '/'?‘oday’yscore:‘\
= A

75 _ o W 7 gyl | .
oV some move W/ ............ i \\ 4/1
double half of _ 4 double _

3 is 10 is ox2= 10-2= 4 is 3xe=
5+ 5= 8:2= 1x2= double 2:2= 4:2=

O is

doul:fle 0+0-= half.of 2422 half.of 4=

1 is 2 is 4 is
half of 1+1= half of half of 2% 2= double

0 is B 8 is 6 is B 5 is
3+3= dcz’”?s'e 6:2= 4+4= 0x2-= 0:2=
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[D,oubl.e/s/H,aJJv% to 10 ée
/ QUICK.
77 y & T e
v some move - beal Yo’ Jor Rt
double half of _ o double _
3 is 6 10 is Hx2-= 10 |10:2= 4 is 8 3x2-= 6
5+5= 10 |8+2= 1x2= 2 dg“ti’;e 2:2= 1 |4:2= 2
double _ half of _ half of _
1 is 2 |0+0- 2 is 1 j2-2- 4 is 2 |4x2= 8
half of _ half of half of _ double
0 is 0 I+1= 8 is 4 6 is 2x2= 4 5 is 10
3+3= 6 d;“tl.’:" 6:2= 3 |4+4= 0x2= 0O |0:2= O
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